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iii.

It is expected to determine the daily usage of teller machine on average by the customers.
A study has been carried out during the last 60 days and results indicated that 85.2

customers on average used the teller machine with a standard deviation of 6.2. Estimate

the average usage of teller machine at 95% confidence.

(06 Marks)

. 1When a sample size of 5000 employces is analyzed, there are three thousand five hundred

employees with high educational qualifications. Estimate the proportion of the total

employees with high educational qualifications at 95% confidence.
(06 Marks)

There was a study to estimate the difference of weights between two products produced

by two companies. Following information is provided for the two products.

Company 1 Company 2
Average weight 60.5Kg 56.2Kg
Standard deviation ~ 1.4Kg 1.5Kg
Sample size 120 100

Estimate the difference of average weight between the two products produced by the (wo

companies al 95% confidence.

(08 Marks)

(Total 20marks)

A businessman says that the average weight of his product is 40kg. A sample of size 50 is
selected to study this statement. According to the results, the average weight is 38kg with

the standard deviation of 4.3kg. Test the statement at 95% confidence.

(06 Marks)



ii. A machine producer says that there is no difference between the quality of machine
I and machine 2. When a sample size of 200 items produced by machine 1 is tested,
the level of quality is 93% and another sample size of 250 items produced by
machine 2 is tested, the level of quality is 91 %. Test the producer’s statement at

95% level of confidence.

(06 Marks)

iit. ~ Management of three companies says that there is no difference between their
products in relation to durability. Three samples have been selected and their
durability in months has been estimated. Results are given in the following table. Test
whether there is a significant difference between the durability of the products of at

least two companies.

Sample 1 | sample 2 | sample 3

4 3 6

5 6 7

3 5 7

5 6 5

3 3 [ 5
(08 Marks)
(Total 20marks)

Following table is providing information relative to price and supply of a transport

service in hours.

Price  Supply (Hours)

4 30
5 40
6 60
6 60
7 80
8 90




il.

iii.

v,

Compute the coefficient of correlation and identify the association between price and

supply.
(04 Marks)
Construct the Simple regression model.
(06 Marks)
Construct the Regression ANOVA table and interpret the 1'e§ults.
| (06 Marks)

Calculate, R-square and adjusted R-square values and interpret the results.

(04 Marks)

(Total 20 marks)

A food manufacturing company mixes three components to produce three special
food items. These components are component 1, component 2 and component 3.
Special food items are named as category “A”, category “B” and category “C”.
Management wishes to determine the optimal mix of the three components that w1]l
maximize profit. The available maximum quantities of each component and the cost

per kilogram are as follows.

Component | Maximum kilogram | Cost of a Kilogram
SR 500 60

2 350 70

3 460 55

In order to ensure the proper mix of these components, specifications have been
determined. The components mix and as well as selling price of each food item are

given below.



Food Category Component specifications | Selling price ofa Kg
A | Not Iess than 30% of 1 ;
Not more than 40% of 2 350
Not less than 20% of 3
B Not less than 40% of 3 300
[ Not less than 20% of |
Not more than 30% of 2 200

Develop the LP model.

(10 Marks)
ii. MaxZ = 50X, + 40X;(Income)
St. 3X, + 2X, < 60 Raw Materials
2X, + 3X, < 60 Labor
X, < 15 Ware house space for X,
X, X, 20
Find the optimum solution using the graphical method.
(10 Marks)

(Total 20 marks)

A company produces three products: P, Q and R. Following simplex table provides the

optimum solution for the given LP model.
Max Z= 8X;+9X,+11X; (income)
St. 3X+4X3+3X; <260 (resource 1)
4X,+3X+5X3= 220 (resource 2)
2X,4+2X,+2X; < 100 (resource 3)

Xy, Xg, X320




Cj|basis | solution | 8 9 11 0 [0 0
cb X1 X2 X3 S1 S2 S3
S1 95 -1/2 0 0 | /2 | -11/4
X3 35 1/2 0 I 0 172 -3/4
X2 15 1/2 1 0 0 -1/2 5/4
Zj 520 10 g 11 0 1 3
) Cij-zj -2 0 0 0 =1 -3
Why product “P” is not produced?
(04 Marks)
What are the marginal prices of resources 2 and 37
(04 Marks)
Find the upper and lower limits of Q product.
(04 Marks)
Find the upper and lower limits of resource 2.
(04 Marks)

Management of the company is willing to introduce a new product “S’ that needs 3

unit of resource one, 2 units of resource two and 3 units of resource three. The selling

price of the product is Rs.12. Advice the management on new product.

(04 Marks)

(Total 20 marks)

It is expected to transport employees from three areas to three factories to fill the labor
demand. The capacity of the areas and the labor demand of factories are provided below.

Areas

A

B

C

Capacity

100

300

Factories

P

200

Demand

Transportation cost of an employee from each area to factory is provided in the following

table.



CArcas Factories (Cost Rs.) —|
P Q R
A 18 5 4
B 5 g 15
I € 3 12 10

Find the initial solution using Vogal’s Approximation Method (VAM) or Least

cost cell method.

(10 Marks)

Find the optimal transportation schedule.

(10 Marks)
(Total 20 marks)




Formula sheet

: N2
Mean = 2 Variance = 2%~
n =1
(X)fz«SE SE=— §F = +2% SE=5p|14+1
2 Vn g My ny o ny

yn
X1 —X X1 —X
7 = M1 2 7o — 17— Xy
0_12 0'2;2 SP _1__!___1_ \/pqul_FPZQ2
o VN n,
n1 nz

SST = Z(x — )2 SSB = Z(f —%)? SSW = Z(x = 52

nyxy—Yxyy
JBZF - @09mTy - @

Coefficient of Correlation =




Normal Equations

Y =a+ bx

Sum of Square of Regression = Z(V —Y)?
Sum of Square of Residual = Z(Y —-1)?

Sum of Square of Total = Z(Y —Y)?

Y- e B
STaow & oL

RZ

i
Upper limit Min (ck + Cjakj ]) forallakj <0

. ¢j—2zj :
Lower limit Max (ck + o )for allakj >0

bk
Upper limit Min (bi = EE) forallakj <0

bk
Lower limit Max (bi == a_kj) for all akj > 0




{-Distribution Table

The shaded area is equal to « for = t4.

df L.100 t.050 {025 t.010 t.oos
i 3.078 6.314 12.706 31.821 63.657
2 1.886 2.920 4.303 6.965 9.925
3 1.638 2.353 3.182 4.541 5.841
4 1.533 2.132 2.776 3.747 4.604
5 1.476 2.015 2.571 3.365 4.032
6 1.440 1.943 2.447 3.143 3.707 |
7 1.415 1.895 2.365 2.998 3.499
8 1.397 1.860 2.306 2.896 3.355
9 1.383 1.833 92.262 2.821 3.250
10 1.372 1.812 2.228 2.764 3.169
11 1.363 1.796 2.201 2.718 3.106
12 1.356 1.782 2.179 2.681 3.055
13 1.350 1771 2.160 2.650 3.012
14 1.345 1.761 2.145 2.624 2.977
15 1.341 1.753 2.131 2.602 2.947
16 1.337 1.746 2.120 2.583 2.921
17 1.333 1.740 2.110 2.567 2.808
18 1.330 1.734 2.101 2.552 2.878
19 1.328 1.729 2.093 2.539 2.861
20 1.325 1.725 2.086 2.528 2.845
21 1.398 1.721 2.080 2.518 2.831
22 1.321 1.717 2.074 2.508 2.819
23 1.319 1.714 2.069 2.500 2.807
24 1.318 1.711 2.064 2.492 2.797
25 1.316 1.708 2.060 2.485 2.787
26 1.315 1.706 2.056 2.479 2.779
27 1.314 1.703 2.052 2.473 2.771
28 1.313 1.701 2.048 2.467 2.763
29 1.311 1.699 2.045 2.462 2.756
30 1.310 1.697 2.042 2.457 2.750
32 1.309 1.694 2.037 2.449 2.738
34 1.307 1.691 2.032 2.441 9,728
36 1.306 1.688 2.028 2.434 2.719
38 1.304 1.686 2.024 2.429 2719
~ 1.282 1.645 1.960 2.326 9.576
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Z 0.00 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09

0.0 0.0000 00040 00080  0.0120  0.0160 00199  0.0239  0.0279  0.0319  0.0359
0.1 0.0398  0.0438  0.0478 0.0517  0.0557 0.059  0.0636 0.0675 0.0714  0.0753
0.2 0.0793  0.0832  0.0871 0.0910  0.0948  0.0987 0.1026 01064 01103  0.1141
0.3 01179 01217 01255  0.1293  0.1331 01368 01406 .0.1443  0.1480  0.1517
0.4 0.1554  0.1591 0.1628  0.1664  0.1700 01736 01772 0.1808 0.1844 0.1879
0.5 0.1915 01950  0.1985 02019  0.2054 02088 02123  0.2157 02190  0.2224
0.6 0.2257  0.2291 0.2324  0.2357 02389 02422 02454  0.2486  0.2517  0.2549
0.7 0.2580  0.2611 0.2642 02673 02704 02734 02764 02794 02823 0.2852
0.8 0.2881 0.2910  0.2939  0.2967 02995 03023 0.3051 0.3078  0.3106  0.3133
0.9 03159  0.3186 = 03212 03238 03264 03289 03315 03340 03365  0.3389
1.0 0.3413  0.3438  0.3461  0.3485  0.3508  0.3531 0.3554 03577  0.3599  0.3621

11 03643 03665 03686 03708 03729 03749 03770 03790  0.3810  0.3830
1.2 0.3849 03869 03888 03907 03925 03944 03962 0.3980 0.3997 04015
1.3 0.4032 04049 04066 04082 04099 04115 04131 04147 04162 04177
1.4 0.4192 04207 04222 04236 04251 04265 04279 04292 04306 04319
1.5 04332 04345 04357 04370 04382 04394 04406 04418  0.4429  0.4441
1.6 0.4452  0.4463 04474 04484 04495 04505 04515  0.4525 04535 (4545
1% 0.4554 04564  0.4573 04582 04591 04599 04608 04616  0.4625  0.4633
1.8 0.4641  0.4649 04656 04664 04671 04678 04686  0.4693  0,4699  0.4706
1.9 04713 04719 04726 04732 04738 (04744 04750  0.4756  0.4761 0.4767
2.0 04772 04778 04783 04788 04793 04798 04803 04808 04812  0.4817
2.1 0.4821 0.4826 04830 04834 04838 04842 04846 04850  0.4854  (.4857
2.2 0.4861 0.4864 04868 04871 04875 04878 04881 04884 04887 04890
2.3 04893 0.4896  0.4898 04901  0.4904 04906 04909  0.4911 0.4913 04916
24 04918 04920 04922 04925  0.4927  (.4929  0.4931 0.4932 04934  0.4936
2.5 04938 04940  0.4941 0.4943 04945 04946 04948  0.4949  0.4951 0.4952
2.6 04953 04955 04956 04957 04959 04960 04961 04962  0.4963 04964
2.7 04965 04966  0.4967 04968 04969 04970  0.4971 0.4972 04973 04974
2.8 0.4974  0.4975 04976 04977 04977 04978 04979 04979 04980  0.4981

2.9 0.4981 0.4982  0.4982 04983 04984 04984 04985 04985  0.4986  (.4986
3.0 0.49865 0.49869 0.49874 049878 0.49882 (.49886 0.49889 0.49893 0.49896 0.49900
31 049903  0.49906 049910 049913 049916 0.49918 049921 0.49924 0.49926 0.49929
3.2 0.49931  0.49934  0.49936 049938 0.49940 0.49942 0.49944 0.49946 0.49948 0.49950
33 0.49952  0.49953  0.49955 0.49957 0.49958 0.49960 0.49961 0.49962 0.49964 0.49965
3.4 0.49966  0.49968  0.49969  0.49970 0.49971 049972 0.49973 (0.49974 049975 0.49976
3.5 0.49977  0.49978  0.49978 049979 0.49980 (.49981 049981 0.49982 049983 0.49983

L&l



RKRITICAL VALUES for the "F" Distribution, ALPHA = .05.

Denominator Numerator DF
DF 1 2 3 4 5 6 7 8 9 10
1 161.448 199500 215.707 224583 230.162 233986 236.768 238.883 240.543 241.882
2 18.513 19.000 19.164 19.247 19296 19330 19353 19371 19385 19396
3 10.128  9.552 9.277 9.117 9.013 8.941 8.887 8.845 8.812 8.786
4 7.709 6.944 6.591 6.388 6.256  6.163 6.094 6.041 5.999 5.964
5 6.608 5.786 5.409 5.192 5.050 4950  4.876 4818 4.772 4.735
6 5.987 5.143 4.757 4.534 4387 4284 4207 4,147 4.099  4.060
7 5.591 4.737 4.347 4.120 3.972 3.866  3.787 3.726 3.677 3.637
8 5318 4.459 4.0066 3.838 3.687 3.581 3.500 3.438 3.388 3.347
9 5.117 4.256 3.863 3.633 3.482 3.374 3.293 3.230 3.179 3.137
10 4.965 4,103 3.708 3478 3.326 3.217 3,135 3.072 3.020 2,978
11 4 844 3.982 3.587  3.357 3.204 3.095 3.012 2,948 = 2.896 2.854
12 4.747 3.885 3490  3.259 3.106 29% 2913 2.849 2.796 2.753
13 4.667 3.806 3411 3.179 3.025 2.915 2.832 2.767 2.714 2.671
14 4.600 3.739 3.344 3.112 2.958 2.848  2.764 2.699 2.646 2.602
15 4,543 3.682 3.287 3.056 2.901 2790  2.707 2.641 2.588 2.544
16 4,494 3.634 3.239 3.007 2.852 2.741 2.657 2.591 2.538 2.494
17 4451 3.592 3.197 2.965 2.810 2.699 2.614 2.548 2.404 2.450
18 4.414 3.555 3.160 2.928 2773 2.661 2807 2.510 2456 2412
19 4.381 3.522 3.127 2.895 2.740 2.628 2.544 2.477 2423 2378
20 4.351 3.493 3.098 2.8606 2.711 2.599 2514 2.447 2.393 2.348
21 4.325 3.467 3.072 2.840 2.685 2.573 2.488 2.420 2.366 2.321
22 4,301 3.443 3.049 2.817 2.661 2.549 2.464 2.397 2.342 2.297
23 4279 3422 3.028 2.796 2.640 2.528 2.442 2.375 2.320 2.275
24 4.260 3.403 3.009 2.776 2.621 2.508 2423 2:355 2.300 2.255
25 4.242 3.385 2.991 2.759 2.603 2490 2405 2.337 2.282 2.236
26 4,225 3.369 2.975 2.743 2.587 2.474 2.388 2.321 2.265 2.220
27 4210 3.354 2.960 2.728 2.572 2.459 2.373 2.305 2.250 2.204
28 4.196 3.340 2.947 2.714 2.558 2.445 2.359 2.291 2.236 2.190
29 4,183 3.328 2.934 2.701 2.545 2432 2346 2.278 2,223 2177

30 4171 3316 2922 2690 2534 2421 2334 2266 2211  2.165
31 4,160 3.305 2911 2.679 2.523 2.409 2.323 2.255 2.199 2.153
32 4.149 3.295 2.901 2.668 2512 2.399 2313 2.244 2.189 2.142
33 4.139 3.285 2.892 2.659 2.503 2389 2303 2.235 2.179 2.133
34 4.130 3.276 2.883 2.650 2.494 2.380 2.294 2.225 2.170 2.123
35 4.121 3.267 2.874 2.641 2.485 2:3712 2.285 2,217 2.161 2.114
36 4.113 3.259 2.866 2.634 2.477 2.364 22797 2.209 2.153 2.106
37 4.105 3.252 2.859 2.626 2470 2356 2270 2.201 2.145 2.098
38 4.098 3.245 2.852 2.619 2.463 2349 2262 2.194 2.138 2.091
39 4.091 3.238 2.845 2.612 2456 2342 2255 2.187 2.131 2.084
40 4.085 3.232 2.839 2606 2449 2336 2.249 2.180 2.124 2.077
41 4.079 3.226 2.833 2.600 2.443 2330 2243 2.174 2.118 2.071
42 4.073 3.220 2.827 2.594 2.438 2324 2237 2.168 2.112 2.065
43 4.067 3.214 2.822 2.589 2432 2318  2.232 2.163 2.106 2.059
44 4.062 3.209 2.816 2.584 2427 2313 2.226 2.157 2.101 2.054
45 4.057 3204 2812 2579 2422 2.308 2.221 2.152 2.096 2.049
46 4,052 3.200 2.807 2.574 2417 2304 2216 2147 2.091 2.044
47 4.047 3.195 2.802 2.570 2413 2.299 2212 2.143 2.086 2.039
48 4.043 3.191 2.798 © 2.565 2.409 2295 2207 2.138 2.082 2.035
49 4,038 3.187 2.794 2.561 2.404 2.290 2.203 2.134 2.077 2.030
50 4034 3.183 2790 2,557 2400 2.286 2199 2130  2.073  2.026
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Modern business is dynamic. If there is any single word that can best describe today’s
business, it is change. This change makes the companies spend substantially on Research
and development (R & D) to survive in the market.

1. Explain the importance of environmental analysis for a business organization.

(10 Marks)

ii. Top managers need strong conceptual skills, while those at midlevel need good
interpersonal skills and those at lower levels need fechnical skills.

Justify your answer with appropriate examples.

(10 Marks)
(Total 20 marks)

1. “Planning provides a rational approach for achieving predetermined objectives.
All members, therefore, need to work towards achieving organizational goals”,

Discuss the role of communication in the process of planning in achieving
organizational goals.

(10 marks)
il.  Management first identifies its purposes, creates a mission statement, and defines
its core values.
Explain the terms in italics.
(10 Marks)
(Total 20 marks)

1. “Adaptive behaviour within the organization that leads to new belief systems. This
new and adaptive behaviour instilled through organizational values and beliefs are
associated with rituals, myths and symbols to reinforce the core assumptions of
organizational culture”. (Hofstede,1991)

Evaluate the above statement,
(10 Marks)
ii. Discuss the challenges of cultural diversity in organization.

(10 Marks)
(Total 20 marks)



4.1 “leadership is the ability to persuade others to seek defined objectives enthusiastically. It
is the human factor that binds a group together and motivates it towards goals.” (Keith
Davis, 1975, p.124.)

Evaluate the above statement.

" (08 Marks)
1. Discuss the Hersey and Blanchard’s situational theory of Leadership Style.
4 (08 Marks)
1i1. Describe the roles of leadership with suitable examples.
(04 Marks)

(Total 20 marks)

5. 1. “A man’s prestige in other words 1s how he expects to be treated and it has therefore a
definite effect on how-comfortably, conveniently and efficiently he can expect to get
along in the life. Prestige is conferred by the society and not elected by an individual to
suit his taste. High prestige is often as much a matter of low status people wanting to
put someone on a pedestal or platform”. -Saul W Gellerman

According to your view how status or prestige motives handled in your organization?
Describe with examples.

(10 Marks)

ii. How an organization utilizes Job design to motivate its employees? Discuss with
examples.

(10 Marks)
(Total 20 marks)

6. 1. Discuss the process of “group development”.

(06 Marks)
,t 1. Why norms are enforced? Explain with examples.
(06 Marks)
iii. Discuss the roles of different types of teams.
(08 Marks)

(Total 20 marks)



7. Write short notes on the followings.

i. Supportive and directive leadership

ii. Action plan and operational strategies
iii. Interpersonal and technical skills

iv. Halo affect and stereo typing.

(05X04=20 Marks)
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A) Explain the challengers faced by the managers in the service organizations, when they

are selling their products. Elaborate your answer using real world examples.
(10 Marks)

B) “Services are classified based on the different ways and it is highly important to the
service company to know their position in such classification in order to satisfy their
customers”. Identify one type of classification of the service and explain the service
management practices of selected service organization in that classification.

(15 Marks)
(Total 25 Marks)

Describe the critical incident that you have experienced with a customer complain
handling in your organization. If this incident was dissatisfying, what could the you, as a
service provider done in order to improve the situation or if the incident was satisfying,
highlight the strategies you have taken to control the situation. Explain your incorporating
the service recovery strategies which would the company can follow.

(25 Marks)

~
“Customer loyalty i1s a measure of a customer likeliness to do repeat business with a
company or brand”

A) Explain the important of loyalty customer to the modern competitive business?

(10 Marks)

’ ‘ SE
B) Explain the nature of ‘service relationships’ using real world examples.

(15 Marks)
(Total 25 Marks)

A) Identify the different patterns of service demand and explain your answer with
example.
(10 Marks)

B). “Some service industries faced huge demand during the Covid-19 pandemic and such
organizations used different strategies to manage the demand”. Explain the strategies for
managing demand in such condition using example from one of the highly demand service
organizations.

(15 Marks)
(Total 25 Marks)



Assume that you are the Marketing manager of one of the service organizations and you
were asked to write a report on the “Service delivery systems” of the organization to
produce to the newly anointed director board. Write a report including existing service
delivery strategies, challengers faced by your company in delivering services and your
recommendation to improve the service delivery systems in order to attract more
customers.

(25 Marks)




